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D EAIHIE D
DAl 2l 2 OHE(ELXGINL/RHLEAI)

DA Zel 2 XA (9 &)
SH - B - O9I(30) - NRAIY - BES ol&key o HlmS2t

A D 56,752,785 78,361,910 ~21,609,125
= 2,436,250
Xl 36,347,900
= 17,968,635

22| Y N (2ELX ML/ XSLTAI) 46,430,300 30,684,100 15,746,200
= 500,000
Xl 28,411,900
= 17,518,400

SAl 2el ¥ XI& 6,072,800 7,214,100 A1,141,300
Xl 6,060,900
= 11,900

LRSS 2t 94,700 95,000 A300
Xl 94,700

201 LEt2HH| 1,000 1,000 0
Xl 1,000

01 At22teltl 1,000 1,000 0
Ol HE RS 1,000
Xl 1,000

202 04| 23,700 24,000 A300
Xl 23,700

01 =W 0Ll 23,700 24,000 A300
OMEHE RS HLFA 23,700
Xl 23,700

207 AOHEHI 70,000 70,000 0
Xl 70,000

01 2E4H| 70,000 70,000 0
ONLHIE P HTAN HEE 70,000
Xl 70,000

LRSS 22l XA 66,200 66,200 0
Xl 66,200

308 RHXISHXISOIE 66,200 66,200 0
Xl 66,200

01 RMXSHHBNELZ 66,200 66,200 0
OMEHERSE 22X 66,200
Xl 66,200

LRSS FIXRAS 5,900,000 6,800,000 A900,000
Xl 5,900,000

403 MXISHMSAHE01H 5,900,000 6,800,000 2900, 000
Xl 5,900,000

01 AXISHHRE2ES 5,900,000 6,800,000 A900,000
OMNLHETS FoIXIRAAS 5,900,000
Xl 5,900,000

AMAHEEY SR /TS 5,000 5,000 0
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A SAIHED
A Al 2l Y OHE(IELXNL/XALEAI)
ool SAl B2l 2 X (B2l &)
- - — PalE|
SN - B - O9(3) - NRAY - BES ol &rey e HimEE)
201 B2 5,000 5,000 0
03 A2 5,000 5,000 0
OAlZ TAIHEEE |35 5,000
SAl 2el & XF 2EX2 6,900 7,900 21,000
203 HRF=4| 6,900 7,900 21,000
03 AIHF=XAHR A 6,900 7,900 21,000
OEAl 22l & K& 2 AFFA 6,900
2AT2Z FHIAE 4,000,000 5,000,000 21,000,000
TE-SIE Z2AEZ AL 4,000,000 2,000,000 2,000,000
403 XHXISHMIEXH=0(H 4,000,000 2,000,000 2,000,000
01 IXISHA2EE 4,000,000 2,000,000 2,000,000
Ox=Z-atg2t 292 A4 4,000,000
AN 9,829,500 9,031,000 798,500
=2 500,000
L= 9,329,500
ZII0IEEH TAIHEAE =2 ZHI 9,300,000 9,000,000 300,000
403 AXISHMEA=01H 9,300,000 9,000,000 300,000
01 "XISMA=2E X 9,300,000 9,000,000 300,000
OFE 3IEH TAHEANE S2(E1-156)
=2 170,000
OHE SHLEBSFE TAMAEANE &2
(£1-110) W& 170,000
O XA TAHEANE =2(43-31)
& 170,000
O LolSHET TAHEAE =2
(21-125) JH4 180,000
OZZ QEUMUS TAHEANE T2(L
Ha 170,000
OB SN TAHEAIL T2(22-53)
& 170,000
Oz HMS TAHEAE T2(42-18)
& 170,000
Ot SUEE TAHEANE S2(A343-13)
e 250,000
OFE =8 TAHESAIL T2(AAE3-0)
& 250,000
OSg & TAHEAE S2(42-73) W& 200,000
OSg EYEE TAHEANE Z2(214)
p F=! 200,000
OsY T& TAHEANE E2(F1-3) ME 100,000
OAIE T SAIHEAIE =2(21-86) 250,000
OAIE SXE TAAHEAE T2(43-3) SIZZ 250,000
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S CAIHE D )
I TA 22| L O (ZELXGNL/XSLEA .
2l SADHY (cHe): &)
HEE =
2M -3 . A2(3H) - MRAEY - BHES 04] ko Gl Akl Hns2

2ol A TAIHEAE S2(F1-6)

KA 250,000

2ol S24 TAIHEAE S2(F3-7)

PP 250,000

2ol 22 TAIHEAIE S2(51-37) HE 200,000
OU FHAE TAIHBAIE T2(A2-3-13)

KA 250,000
O LHOIAE ZAIHEAIE =2(A2-1-86)

PP 250,000
OHAl £ TAIHEAIS T2(T13-9) Ha 250,000
ONAl A2 TAIHEAS S2(13-9) Ha 250,000
Ot SHSA TAIHEAE =2(F3-47)

KA 250,000
QA AZAE TAHEANE E2(F3-7)

PP 250,000
028 NE TAHEAE T2(A2-36) A 200,000
0ol ME TAIHEASE T2(F3-2) Ha 200,000
Q& ERARAF ZTAIHEAE E2(A2-5

A3-7) JHe 250,000
Ot E2ARS ZAIHEAE E2(A2-16)

PP 250,000
O=YE U STAIHEASE T2(A3-8) Ha 250,000
O=Y =T TAHEAE T2(A2-20) HA 250,000
O HEYS TAIHEAE S2(S1-11)

PP 250,000
ODE MADAF TAIHEBAE E2(=1-5)

JHad 250,000
OLtsll 28 TAIHEBAIE T2(A2-27) HA 200,000
OLal OtAF TAIHEASE S2(F3-1) Ha 200,000
Odts 2RI TAHEAE =2(A2-18)

PP 200,000
OBtE W TAIHEAE T2(A2-17) MA 200,000
OLHE 24 TAIHEANE S2(A3-7) Ha 200,000
OLHE AlEAIRI SAIHBAIE S2(A2-46)

M 200,000
O oto|2H ZAIHEAE E2(A1-11)

pIIFS! 200,000
O A2 TAIHEAIE T2(A2-74) WA 200,000
ONE A& ZTAIHBAIL(A3-4) =2 HH| 250,000
ONHE JIIES2 STAHEAIS(A2-197212)

[===R /1P| 250,000
O MIAL ZTAIHBAIE Z2(A3-114)

P! 200,000
OE& JIOEEHA SAIHIBIAIE S2(A3-66)

KA 200,000

FEHI2 BOREFHINA S XA 500,000 500,000
= 500,000
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L ADED
D OTAl BEl U HE(SELXISIHL/ KLU A)

D SADHE chel JR)
= - — KL=
SN - FE - S2I(E) - KIRAY - BES Ol atoy e =
403 X HMSAHE01H 500,000 0 500,000
= 500,000
01 AXHHZEL 500,000 0 500,000
OF8lZ2 B0 FHAY S KA 500,000
= 500,000
ADHE 2EXI~ 29,500 31,000 A1,500
201 LB 2,000 2,000 0
01 AtR2teltl 2,000 2,000 0
Oggt=ZH| 2,000
202 Oid| 8,000 8,000 0
01 =LHOAYI 8,000 8,000 0
OSANE AY =& 8,000
203 YFF=&H| 19,500 21,000 A1,500
03 AIBZFRAHRZ=EIH| 19,500 21,000 21,500
OS A AFY AlZEF=E 19,500
EASAX SN AL 10,528,000 9,439,000 1,089,000
Xl 9,521,000
< 1,007,000
A HESZ IS AL 5,975,000 5,688,000 287,000
Xl 5,975,000
403 XHXISHMIEXH=Z0(H 5,975,000 5,688,000 287,000
Xl 5,975,000
01 REXISMA=2E X 5,975,000 5,688,000 287,000
OFZX7 FHEZ LAY 708,000
Xl 708,000
(@F=F: 3= pSE PN 2,070,000
Xl 2,070,000
OW2F XIS AIEI(EISH) 357,000
Xl 357,000
OAEGNESB2H(2HA) 167,000
N 167,000
Og=oE =7l 156,000
Xl 156,000
O&E F2X+ F=HSZ N A 796,000
Xl 796,000
OtZE AES MHEAMS 468,000
N 468,000
OBlossom" O " 213,000
Xl 213,000
OZEHAS BHIEE Al 2SEESEAIY 1,040,000
Xl 1,040,000
NS AL BALS 229,000 316,000 A87,000
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A SAIHED
A Al 2l Y OHE(IELXSNL/XALEAI)
ol CAIZSSIXINLAY (B9l &)
- - — PalE|
SN - B - O9(3) - NRAY - BES ol &rey e HimEE)
Al 229,000
403 XRXISHIEA=01H 229,000 316,000 287,000
Xl 229,000
01 "XISHMA=2E X 229,000 316,000 287,000
Ooorsstn 23 50,000
Xl 50,000
O=01 #=H0ts eS| 179,000
Xl 179,000
SAESESINNGNEAME 2SRA 12,000 13,000 21,000
201 ZeH2E| 2,000 2,000 0
01 AR2teld| 2,000 2,000 0
Ogpt=EZH| 2,000
202 (44| 6,000 6,000 0
01 =2LHOALI 6,000 6,000 0
OEAIEA AY F& 6,000
203 HRF=4| 4,000 5,000 21,000
03 AR F=R AR =] 4,000 5,000 21,000
O ANEHSTRIGNL ALY 2t AIZHZ=A 4,000
A SEXISA 4,312,000 3,422,000 890,000
Xl 3,317,000
& 995,000
403 AXISHMEA=01H 4,312,000 3,422,000 890,000
Xl 3,317,000
L= 995,000
01 RtXIEMAZ 2 4,312,000 3,422,000 890,000
OJI0tZ3tet MAHI23L &doh= 23HE 0t
2ol 4,312,000
Xl 3,317,000
= 995,000
SAITHA AR 16,000,000 0 16,000,000
Xl 12,830,000
< 3,170,000
SATHE =EAS 15,400,000 0 15,400,000
Xl 12,830,000
L= 2,570,000
403 AXISHMEA=01H 15,400,000 0 15,400,000
Xl 12,830,000
L= 2,570,000
01 "XISHHA=2E X 15,400,000 0 15,400,000
felsdlaeldl 1,800,000
Xl 1,500,000
L= 300,000
OFAHNX &S 2,740,000
Xl 2,280,000
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2A:

K| XH -
o=

=C

S AIHIE D
SAl 22| L OHS(SELXGNL /XL AI)
S AIHAEARS

o
40
F]
o

S - FE - ERI(BH) - HIRARY - BAS

Ofl &4

ST
Ofl &koH

OZHMoere

H1

Xl

H

Xl

H

=

460,000
2,760,000
2,300,000

460,000
3,600,000
3,000,000

600,000
4,500,000
3,750,000

750,000

600,000

600,000

600,000

600,000

600,000
600,000

600,000

10,098,635

1,936,250
7,936,000
226,385

18,029, 100

AT7,930,465

=

1,014,285

1,000,000
14,285

800,000

214,285

=

1,014,285

1,000,000
14,285

800,000

214,285

403 RXIEMSAH=01H

H =

1,014,285

1,000,000
14,285

800,000

214,285

H =

1,014,285

,014,285

,000,000
14,285

—_

800,000

214,285

N = W

9,084,350

1,936,250
6,936,000
212,100

14,229,100

A5,144,750

Mo

650,000

500,000
150,000

1,333,000

2A\683,000

403 MtXILHSK201H

Mo

650,000

500,000
150,000

1,333,000

2A\683,000

Mo

650,000

650,000

500,000
150,000

1,333,000

683,000
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2A:
X XH -
[l B

=C

S AIHIE D

KA A X XA

SAER 2 & 2 (SEXLXSN

SH - B - O9I(30) - NRAIY - BES ol&key o HlmS2t

UAUBEAMATT] SHAX|IRAEH 7 A 1,436,250 0 1,436,250
= 1,436,250

403 MXISMSAHE01H 1,436,250 0 1,436,250
= 1,436,250

01 "XISHHA2E X 1,436,250 0 1,436,250
OQMULIAACHT SAIKIZHE TEAY 1,436,250
= 1,436,250

NYASHT] SHEE HEX 6,936,000 11,350,000 A4,414,000
Xl 6,936,000

403 MXISHMSAHE01H 6,936,000 11,350,000 24,414,000
Xl 6,936,000

01 AXISHMAE2ES 6,936,000 11,350,000 24,414,000
ONYMAET BAUBLE &K/ 6,936,000
Xl 6,936,000

Aot etX X2 3| 62,100 213,100 A151,000

201 LEt2 | 33,800 33,800 0

01 AtR2teld] 33,800 33,800 0
Ogt=2H| 8,500
Oo2g=¢ 25,300

202 04| 20,000 20,000 0

01 =LHOLI 20,000 20,000 0
Oa AR 2H R 20,000

203 YR F=&H| 8,300 9,300 A1,000

03 AIHZ=XAHSFAIH| 8,300 9,300 A1,000
O AN 2HH R 8,300

HYS2H AU (S AIHE D (D1EHDIE] 223,850 219,710 4,140

Jl2Z| 223,850 219,710 4,140

J|2&l 223,850 219,710 4,140

201 LEt2 | 152,350 152,350 0

01 AtR2teld] 139,945 139,945 0
Oggt==2H| 35,945
O=gtl 24,000
Oo2g=g 80,000

02 2224l 12,405 12,405 0
O=22= & HAl 12,405

202 04| 32,500 32,500 0

01 =LHOLI 32,500 32,500 0
ORNMISHRFA 32,500

203 YR F=&H| 10,800 10,860 AB0
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2A: SAHED
. HYHSIAHUI(SAIHE D) (DIEHDIEL
celr J|=3H| (9 &)
SH - B - O9I(30) - NRAIY - BES ol&key o HlmS2t
01 J|22HHRFE| 6,000 6,600 A600
Oo=% 6,000
04 EA2IHRFEI 4,800 4,260 540
OZAHEY 2 4,800
204 2= AL| 28,200 24,000 4,200
01 S HSHAHI 28,200 24,000 4,200
Oo=% 7,200
OWE, =& 21,000
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SN ASD
B FHMUSRI(ANSSN/IIZMERE)
Sl E=H3o EERE)
- _ &E
SN - B - O9(3) - NRAY - BES il & e HimEE)
A= 84,047,473 63.317,022 20,730,451
2 61,685,384
o] 16,972,736
= 6,389,353
FANMEBR(ASIZT /| ZHERE) 66.037,427 60,530,987 5,506, 440
2 61,482,084
== 4,555,343
=SIEL 66,037,427 60,530,987 5,506,440
2 61,482,084
== 4,555,343
ESIEL 66,037,427 60,530,987 5,506,440
2 61,482,084
== 4,555,343
308 XHXIEHHIS Ol 66,037,427 60,530,987 5,506, 440
2 61,482,084
= 4,555,343
0T ANSHISBES 66,037,427 60,530,987 5,506,440
O=HZo! 66,087,427
2 61,482,084
== 4,555,343
ZOHQl FHEX S (ASIZX/FHAHSI) 264,290 113,620 160,670
2 203,300
< 60,990
oMl FHECl 2t 264,290 113,620 160,670
2 203,300
= 60,990
S0iE HOjl FHHEAY 264,290 113,620 160,670
2 203,300
= 60,990
403 T SHHSKH=0IH 264,290 113,620 150,670
2 203,300
= 60,990
0T A SHNERE 264,290 113,620 150,670
OS0E H0je! ZHIHTAL 264,290
2 203,300
= 60,990
=B (MEI=XI/ ) 7,219,767 2,156,061 15,063,706
o] 15,972,736
= 1,247,081
ENEESIEEp 16,406,736 1,567,000 14,839,736
o] 15,972,736
= 434,000
HASHS 20252 N 200,000 200,000 0
501 X2 200,000 200,000 0
RS 200,000 200,000 0
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SA: A=D
M FAHSRINS (MBI =T/ FE)
SRl TAINIHEISEINA (Sl &)
SH - B - O9I(30) - NRAIY - BES ol&key o HlmS2t
| OFASIIE elueEs N 200,000
HAS NEJF 472 SSFEEX X2 200,000 200,000 0
403 XIXISHHIS KH=0| & 200,000 200,000 0
01 XXISHIGHEEE 200,000 200,000 0
ONAS HEHF 272 SSFEX| X2 200,000
2oIUMFE ALX| 15,972,736 0 15,972,736
Jl 15,972,736
403 XIXISHHIS KH=0| & 8,484,106 0 8,484,106
Jl 8,484,106
01 XXISHHIEEE 8,484,106 0 8,484,106
ONMLH2ENT HIIZJARTY HEX 8,484,106
o=QIALFEE ALXIR 4,328,626
| 4,328,626
0HPYUMFE ALX| 4,155,480
Jl 4,155,480
404 SAIBEXI=HES 7,488,630 0 7,488,630
Il 7,488,630
01 SAH- SEX=EES 7,488,630 0 7,488,630
OTFHEXT JLYUF ALK 7,488,630
Jl 7,488,630
Tz 293 34,000 37,000 3,000
201 Yt | 22,000 25,000 A3,000
01 Al 22 22,000 25,000 A3,000
OZEFe SZA+Y Axag 15,000
OZSFe orEgre| Is)|RY 294 3,000
Oggt42H| 4,000
202 01t 12,000 12,000 0
01 =LHOit] 12,000 12,000 0
OZsFene| 92 =4 12,000
SOIEFNHEEINA 590,015 422,445 167,570
AES S44=3] 71,445 79.875 18,430
403 REXISHH SXH=01® 71,445 79,875 18,430
01 XXISHHITEEE 71,445 79.875 18,430
OA=E Su=3 71,445
SO01E 2IEE| 107,250 107,250 0
403 XEXISHHISRH=O0I & 107,250 107,250 0
01 XM= EE 107,250 107,250 0
Os0iZE BIZEH| 107,250
HAFHSEAAL PE L 29 26,000 0 26,000
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A A=
A NHEZINE (MBS X/5=)
oHel: SOIEFENBNM (Crol: i)
SA - B - SRI(EH) - AIRAY - BES ofl e o HI D2
308 AXIHHSOIA 26,000 0 26,000
10 SIS0 e X 2AEAIY| 26,000 0 26,000
OtdEEANAY 725 & 2Y 26,000
== Y NSHE 219,420 219,420 0
403 MXIEMSAH=01H 219,420 219,420 0
01 XIS =22 219,420 219,420 0
O==¢ = NSHL 219,420
SHEFHSIMEAY 23| 15,900 15,900 0
202 O 13,500 13,500 0
01 =LHAOLI 13,500 13,500 0
OsUHEFHEZHEAY =8 13,500
203 HR=4| 2,400 2,400 0
03 AIZFRIH RS 2,400 2,400 0
OsHEFHEZMEAIY =8 2,400
BIE &2 gt AHFE AIHAY 150,000 0 150,000
403 XXIEHMSAH=0IE 150,000 0 150,000
01 AXHHZE S 150,000 0 150,000
Ol 25 gt =S AIBAI 150,000
TEHASHE It & 2 223,016 166,616 56,400
CPTEDD Y &g oty =32 8 Al 100,000 100,000 0
403 XXIEHMSAH=01H 100,000 100,000 0
1T X ESHA=ZEE 100,000 100,000 0
OCPTEDI Y =g ¢ty ==& X4 100,000
ARSRE AIE Mz 5,000 5,000 0
201 £gH=2g| 5,000 5,000 0
03 A= G| 5,000 5,000 0
OA=ZRE |3s M= 5,000
AEEZSIAE =T 50,000 0 50,000
307 elZto|d 50,000 0 50,000
04 QUIFSHAIANHE S 50,000 0 50,000
OZ&Er A=2aM Hal 50,000
dag fxd=5E A 10,760 4,360 6,400
201 £gH=2g| 10,760 4,360 6,400
01 A2l 10,760 4,360 6,400
OR+==8 IS M= 4,360
OR4Ze BT U AN FIZ 6,400
FEAFREZZ I 57,256 57,256 0
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@
i’
oF
ol

-~

KI0

Hlw

10,000
10,000

10,000
10,000
10,000

ST
Ofl &koH

33,656
33,656

21,000
21,000
2,600
2,600

464,800

464,800
300,000
300,000
300,000
120,000
120,000
120,000

20,000
20,000
20,000
24,800
12,800
12,800

9,000
9,000
3,000
3,000

22,000

Ofl &4

33,656
33,656

7,256
21,600
4,800
21,000
21,000
21,000
2,600
2,600
2,600

474,800

474,800
300,000
300,000
300,000
300,000
120,000
120,000
120,000
120,000
30,000
30,000
30,000
30,000
24,800

12,800
12,800
3,600
6,000
3,200
9,000
9,000
9,000
3,000
3,000
3,000
22,000

F RIS - HISALY - B2

L

=M

&0
0K
oJ
oll

01 AtR22teld|
01 =LHAHI

t

202 Odd|

.

A

iy

=01
A=201A

=
>
=

Ch2 Hel =4

=

01 NtXIEHHIR =22 =

01 XM= 2

20l Ot

403 XhXIEEA
403 KEXIEHHI

1|

F

2 el &4

i

Ol Ot

i)

Ozt

307 212401

80
0K
o)
oll

201

01 At22teld
01 20l

202 04l

2
[

CIAte!

RO

==
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@
i’
ok
ol

-~

KI0

Hlw

365
365
365

365

365

ST
Ofl &koH

22,000
22,000
3,000
3,000

18,000
18,000

1,000

1,000
29,554
29,554
29,554

22,565
19,000

3,565

2,789
2,789
4,200
4,200

Ofl &4

22,000
22,000

3,000
3,000
3,000
18,000
18,000
18,000
1,000
1,000
1,000
29,189
29,189
29,189

22,200
19,000
9,400
4,800
4,800
3,200
3,200
2,789
2,789
2,789
4,200
4,200
4,200

F SRI(B1) - HIRAKY - BES

L

=M

80
0K
oJ
oll

201

01 At22teld
01 =LH04bl

202 Odd|
=3

&0
]3]
J
oll

01 AtR22t2ld|

4
K
ol

HIAl

al
=

no

[0
H0

2

01 =LHOILI

202 04l

0B

=3
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FAM WSSF
M HA U2 WEME PEH(>BSLUVE/HESNE - SRSIIEN
Bt LEMA K Jlgt A= (el &)
- - — PalE|
SN - B - O9(3) - NRAY - BES ol &rey e HimEE)
wNESFU 39,417,737 25,180,658 14,237,079
= 2,450,200
Xl 13,335,000
= 23,632,537
S8 42 NSHE FEH(+SLNS/HELS - =F3SIIEY) 39,355,279 25,123,900 14,231,379
= 2,450,200
Xl 13,335,000
= 23,570,079
WEHH & JIE 2= 199,600 785,600 586,000
FAWSHAH 5 2 2| 14,600 14,600 0
201 B3| 9,000 9,000 0
01 AtR2teltl 4,000 4,000 0
OunsddgdemHs Rl S 2,800
O=¢&tl 1,200
03 A2 5,000 5,000 0
OuSEH AL A3 5,000
202 Oid| 3,600 3,600 0
01 S| 3,600 3,600 0
OZFusSHA 2= 82 S 3,600
203 HRF=4t| 2,000 2,000 0
03 AIHZ=XAHR A 2,000 2,000 0
OZHUSHA 7= &2 282 & 2,000
sHE wWSIE &2 XA 135,000 135,000 0
308 AXIHHSOIA 135,000 135,000 0
01 AXHHBAELS 135,000 135,000 0
Os0E sttt &8 X 25,000
S0E Rz ¥ NSIHE 2dst 110,000
JHEE NSEUSHATS)XILHE =5 47 50,000 0 50,000
207 AN 50,000 0 50,000
01 AE4d| 50,000 0 50,000
OZ&EE XNsEuSHAITS)KLAHE +F
o1 50,000
S NSEst &4 4,775,700 5,986,300 1,210,600
Xl 3,034,000
< 1,741,700
SAFIE =4 3,034,000 4,276,000 A1,242,000
Xl 3,034,000
403 XHXISHMIEXH=Z0(H 3,034,000 4,276,000 1,242,000
Xl 3,034,000
01 "XISHHA2E X 3,034,000 4,276,000 A1,242,000
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A NSSIH
M MX US NS PEH(SSLWE/HSNE - S[SIIE
&t sns =4 (9 &)
SH - B - O9I(30) - NRAIY - BES ol&key o HlmS2t
= 650,000
= 16,001,000
t=ws SAXE 2l 14,900 15,400 A500
201 LEt2 Y| 2,000 2,000 0
01 Al2Z2IH 2,000 2,000 0
OUZERE 84 92 £& 500
O=gtl 1,500
202 04| 11,400 11,400 0
01 =LHOHI 11,400 11,400 0
Olisus SEXH g2 =& 11,400
203 YR F=&H| 1,500 2,000 A500
03 AIHZ=XAHSFAIH| 1,500 2,000 A500
OlsusS SEXH AIX =& 1,500
HASM ZE+=K =& ZA 111,000 93,000 18,000
201 LEt2 | 11,000 13,000 A2,000
02 2224l 11,000 13,000 A2,000
Odg-Xzs MAZz ) SRS+ 11,000
207 AN 100,000 80,000 20,000
01 84| 100,000 80,000 20,000
OHAYM X248 A EY 100,000
AU-sHEHA THE K& 5,000,000 5,000,000 0
308 AHXISHISOIE 5,000,000 5,000,000 0
01 RMXSHHBNELZ 5,000,000 5,000,000 0
OAW-sHEHALX HE XI&A 5,000,000
AIHA THE XI& 8,000,000 8,000,000 0
307 2I2t01 & 8,000,000 8,000,000 0
09 2HEXZS 8,000,000 8,000,000 0
OAAHASM THEXIA 8,000,000
WEKA Ols®e S 675,000 450,000 225,000
= 450,000
& 225,000
4038 REXISHMSKH=0(H 675,000 450,000 225,000
= 450,000
= 225,000
01 AXISHMAE2ES 675,000 450,000 225,000
OMAHA 2H| X2 675,000
= 450,000
& 225,000
HAaHA 2gz=a8a3 X2 790,000 790,000 0
308 KXISHHISOIH 790,000 790,000 0
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2A:
X XH -
[l B

=C

BN - ZE - S - HIRAY - BSES il &t o BlmE2
01 IXSHBLEES 790,000 790,000 0
OMaA 2Bz X 790,000
SEgus=H SHY 24| XI& 993,600 779,000 214,600
307 g12+ol& 993,600 779,000 214,600
05 BI”IRIE S 993,600 779,000 214,600
OSgusst SHE 294 N 993,600
Sgusst RE2 S¥= KA 70,000 70,000 0
308 AXIHHSOIA 70,000 70,000 0
01 UtXIEHBAExS 70,000 70,000 0
OSgusst R2E2 sz NF 70,000
AMeIHA HlaXSHSER 23] X 400,000 0 400,000
= 200,000
= 200,000
402 212ERH20(1 M 400,000 0 400,000
= 200,000
L= 200,000
02 QIR AT 2 (01X THA) 400,000 0 400,000
OAlHA HIAXISHISEX & X 400,000
= 200,000
= 200,000
ANAHA WEIIE S4lHl KA 96,500 0 96,500
307 g12+ol& 96,500 0 96,500
02 BIMBAAHES 96,500 0 96,500
Od=Zse wSItE sS4l XIF 96,500
AEQIBHA CHEIXH] X1 500,000 0 500,000
402 212EXHE01 M 500,000 0 500,000
01 QIZEHE A B2 (KHMITHE) 500,000 0 500,000
OAIIHA CHEIXH] X1 500,000
LAHEXNNS wE 2 3,038,079 1,972,200 1,065,879
Xl 900,000
< 2,138,079
QX-EIXNS NS 2LXJ 11,900 12,200 A300
201 B3| 2,000 2,000 0
01 AR2teld| 2,000 2,000 0
O=¢&tl 2,000
202 (44| 8,400 8,400 0
01 2LHOALI 8,400 8,400 0
OLAEIKE nE2d ALFA 8,400
203 HRF=4| 1,500 1,800 A300
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M nS2EW
M HA U2 WEME PEH(>BSLUVE/HESNE - SRSIIEN
L2 Y (Erel: &)
- - — PalE|
SN - B - O9(3) - NRAY - BES ol &rey e HimEE)
03 AIHZ=XHR A 1,500 1,800 A300
OLX-HEXXSE NE2F A =& 1,500
HXed NESEEA 212 X 125,000 125,000 0
308 XXIEHHISOIH 125,000 125,000 0
01 HXEtHEAEExS 125,000 125,000 0
Ol WSSITAL 212 125,000
HXcd Ea2EaE T 1,200,000 1,785,000 A585,000
308 AXIHHSOIA 1,200,000 1,785,000 A585,000
01 AXHHBLAELS 1,200,000 1,785,000 A585,000
O8Xcd &a2a= X3 1,200,000
Bete Al & 2% N (sEE) 1,025,000 0 1,025,000
Xl 500,000
L= 525,000
308 XXIEHHISOIHE 1,025,000 0 1,025,000
Xl 500,000
L= 525,000
01 AXHHBLAEES 1,025,000 0 1,025,000
OEctE €Al & 2% X (=s&E8) 1,025,000
Xl 500,000
L= 525,000
SCtEEAl 8F AAE 325 At 151,179 0 151,179
207 AN 151,179 0 151,179
02 MA&DHEHI 151,179 0 151,179
OELI28Al 2 AIAH 25 At 151,179
SatE Al S 22 XIJ(ZAIE) 525,000 0 525,000
Xl 400,000
& 125,000
308 AXIHHSOIA 525,000 0 525,000
Xl 400,000
& 125,000
01 AXHHBLAELS 525,000 0 525,000
OECtE Al & 2% X (=AE) 525,000
Xl 400,000
& 125,000
X 2 32 2EAY K& 14,690,900 1,102,400 13,588,500
= 1,800,200
Xl 9,401,000
L= 3,489,700
0 & S=2EAE 2F 2] 27,100 25,400 1,700
201 B3| 11,900 14,000 22,100
01 AtR2teltl 11,900 14,000 A2,100
Oggt==2H| 9,800
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M MX US NS PEH(SSLWE/HSNE - S[SIIE
Chell 01 9 Bl2 2aA K (=)
SH - B - O9I(30) - NRAIY - BES ol&key o HlmS2t
O=gtl 2,100
202 04| 15,200 11,400 3,800
01 =LHOHI 15,200 11,400 3,800
O L o=2EAY 2 = 15,200
BARZ ItEZN =5 K7 500,000 500,000 0
308 AHXISHISOIE 500,000 500,000 0
01 RMXSHHBNELZ 500,000 500,000 0
CEANR2Z IIIEZH =2 X 500,000
EHAl X2 AFANY XIR 608,400 468,000 140,400
= 608,400
308 AHXISHISOIE 608,400 468,000 140,400
= 608,400
01 IXSHBLEERZ 608,400 468,000 140,400
OEAl X2 &AL XI&A 608,400
= 608,400
BAl 22.28 28 9 30,000 0 30,000
207 AN 30,000 0 30,000
01 84| 30,000 0 30,000
CHAl 22.22 28 29 30,000
StSASA SSXDK ZLEXR 11,976,000 0 11,976,000
Xl 9,401,000
= 2,575,000
4038 AEXISHMSKH=0(1H 11,976,000 0 11,976,000
Xl 9,401,000
= 2,575,000
01 XtXISHHA=2E X 11,976,000 0 11,976,000
Oztsktsxt SEX0NA 24X 11,976,000
Xl 9,401,000
= 2,575,000
MAE X MHZ20I1EZDEX 3 K& AL 1,549,400 0 1,549,400
= 1,191,800
= 357,600
4038 REXISHMSKH=01H 1,549,400 0 1,549,400
= 1,191,800
= 357,600
01 RtXISHMA=2E X 1,549,400 0 1,549,400
OAMEE X XMH20I12ZDEX EE XA 1,549,400
= 1,191,800
= 357,600
SJ/C S (>SLUE/HBUE - 27SIIEH 10,000 10,486 A486
=FHA =8 ¥ 22| 10,000 10,486 A486
SFHATAE 283| 10,000 10,486 A486
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ST
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4,486
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2,000
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46,272

46,272

46,272

28,009

25,330

Ofl &4

4,500
4,500
2,400
2,100
4,000
4,000
4,000
1,500

1,500
1,500
52,458
52,458
52,458

30,395
25,716
12,930
2,386
2,000
8,400
4,679
4,679
17,863
17,863
17,863
4,200
4,200
4,200

F SRI(B1) - HIRAKY - BES

L
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&0
0K
oJ
oll

H(D1EHJIEH

01 AtR2teld|
01 =LHOILI

202 Odd|
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80
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01 At22t2ld|
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2,000
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3,800
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2A: EXEE
mE: HelMol SN 7
CIgl TOIBOISIE EXIB )
S - B SRA(SH) - HSA - ol e e
EXNEED 3,998,400 3,148,278 850, 122
= 2,901,889
= 1,096,511
gelHOl EXHE RS (2E 3,956,000 3,105,878 850, 122
= 2,901,889
< 1,054,111
COIEHO9F EXHE 83,020 139,878 A56,858
2 53,350
= 29,670
CoIHOIRIF EXHE 29 K& 25,670 25,670 0
201 LEt23H| 13,870 13,870 0
01 At=2teltl 7,470 7,470 0
Ogit=2H| 4,970
Oo2g=¢ 2,500
02 2223| 6,400 6,400 0
O332z & MA 4,800
OXNEZSHAL 24K 1,600
202 04| 9,800 9,800 0
01 =LHOHI 9,800 9,800 0
OEXHE 23 9,800
203 ARF=&H| 2,000 2,000 0
03 A FRHI S 2,000 2,000 0
OEgIHo|? = 2,000
22| (HE) 4,850 4,928 AT8
= 4,850
202 o4 4,850 4,928 AT8
= 4,850
01 =LHOLI 4,850 4,928 AT8
OXIE 22| 4,850
= 4,850
K22 (KI) 48,500 49,280 AT80
= 48,500
308 AXISHMSOIA 48,500 49,280 AT80
= 48,500
01 XIEHBLE 48,500 49,280 AT80
OXIE2te| 48,500
= 48,500
olEDI(E2) 5 4,000 0 4,000
201 LBt2 | 4,000 0 4,000
02 2223l 4,000 0 4,000
ORI&3I(E 4,000
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2A:
KM
I:|-O| :

EXNFL2D
B2IH0l EXNHY DH(FEUXANL/XALEA])
|X—IXHI}\|.

S - ZB - B9I(3]) - HIRA - BaS oil&key o imE==!
PNESPNEIN; 1,545,812 1,666,923 A121,11
= 1,135,000
< 410,812
N ETHEAALS =& 1,261,112 1,382,223 A121,11
= 1,135,000
= 126, 112
308 AHXISHISOI&E 1,261,112 1,382,223 A121,11
= 1,135,000
= 126, 112
1 AXSHHBLELS 1,261,112 1,382,223 A121,111
OXIZTHEAALS =7l 1,261,112
= 1,135,000
= 126, 112
MIAS XA EEHEAY 267,000 267,000 0
201 LEt2FH| 267,000 267,000 0
01 AtR2teld] 267,000 267,000 0
OXNEIIEE MASKIAH Hitets 267,000
KEHEAL 2GR 17,700 17,700 0
201 LB 5,700 5,700 0
01 AR2teld| 5,700 5,700 0
Oggt===H| 3,200
O2g+4 2,500
202 Oid| 10,000 10,000 0
01 =LHOAYI 10,000 10,000 0
OXIETHEAL 25X 10,000
203 S F=&H| 2,000 2,000 0
03 AIBFRAHRZ=EIH| 2,000 2,000 0
OXIETHZAL HRFA 2,000
NEEES =& 141,250 277,002 A135,752
Egtelst #ERAZIA(XNEBL) =F Mg 126,000 0 126,000
308 AHXISHISOIE 126,000 0 126,000
01 IXSHBLEERS 126,000 0 126,000
O=gelst #FPHAAN(XNEBR) =T A
=3 126,000
NEELs 28X 15,250 20,002 A4, T2
201 LB 4,750 9,502 A4, 752
01 AtR2teld| 2,000 2,000 0
Oggt==ZH| 2,000
02 2224l 2,750 7,502 N4 752
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SA: EXEED
Ha: plelmol EXNSE TS (IELXSIHL/XIHLTAI
SCHIDNESE- TS (=EEED
- Pl
SN - B - O9(3) - NRAY - BES il & e bl DS
ORSNEEBL NS (KRAS) ASLZEFA0]
RS 2,750
202 018 9,000 9,000 0
01 =Uhoid| 9,000 9,000 0
OXNNELS APEA 9,000
203 12| 1,500 1,500 0
EPNEESSEEE=S] 1,500 1,500 0
OX=Es =7 1,500
EXST MG =T 1,291,739 13,000 1,278,739
2 1,263,539
= 28,200
HEZAIXIE EAHHE) 24,000 0 24,000
= 12,000
= 12,000
201 LBr2H| 4,000 0 4,000
=2 2,000
= 2,000
01 A2l 4,000 0 4,000
OMLZAID} LLEA 4,000
=2 2,000
= 2,000
202 018 20,000 0 20,000
2 10,000
= 10,000
01 =Lhoid| 20,000 0 20,000
OMSBAID} SRS 20,000
= 10,000
= 10,000
HEZAIXIIE EAKXIR) 1,251,539 0 1,251,539
2 1,251,539
308 XX EHHISOIH 1,251,539 0 1,251,539
=2 1,251,539
01 MXSABAEES 1,251,539 0 1,251,539
OMEZAIXII} ZAL 1,251,539
2 1,251,539
EXSHAD 2TL 5,000 5,000 0
201 LBr2H| 5,000 5,000 0
03 EAr2 24| 5,000 5,000 0
OEX#HAS 9138 5,000
EXHE 243 22N 11,200 8,000 3,200
201 LBr2 | 3,500 1,500 2,000
01 A2l 3,500 1,500 2,000
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2N EXIEEL
FH: ggelde EXNgE
ool EXYE 243 =

SH - B - O9I(30) - NRAIY - BES ol&key o HlmS2t
Ogit=2H| 3,500
202 04| 6,200 5,000 1,200
01 =LHOHI 6,200 5,000 1,200
OEXNEE Edst ARFL 6,200
203 YR F=&H| 1,500 1,500 0
03 AIBFRAHRZ=EIH| 1,500 1,500 0
OEXNEE g4zt =& 1,500
AXNEE Hatst 894,179 1,009,075 A114,89%6
= 450,000
& 444,179
C2Y L HEBS FUHAS 228,418 227,972 446
308 KIXISHHISO0IA 13,418 12,972 446
10 S| 2 SOICHEHE A X2 ETAISHI 13,418 12,972 446
ORINF=LHEBAIAE(KAIS) SXE4 13,418
4038 AEXISHMSKH=0(1H 215,000 215,000 0
01 AXISHMAE2ES 215,000 215,000 0
T 22| 2YE2 SHHAAZ AXl ¥ |X
S 215,000
T2E Y HSHUS SSAY 30,000 20,000 10,000
201 LEt2 Y| 30,000 20,000 10,000
01 AtR2teld] 30,000 20,000 10,000
OF=2F U HEHS =M 28 S 30,000
SREFAIIEE s A 27,761 27,103 658
308 KXISHHISOIH 27,761 27,103 658
10 S| 2 SOICHEHE A X R ETAISHI 27,761 27,103 658
OEZ2HEHFAI2E st MY 27,761
=OHNEBSE X 2elAt 20,000 20,000 0
4038 REXISHMSKH=01H 20,000 20,000 0
01 AXISHMAE2ES 20,000 20,000 0
O=IHXEHS T AX| ALY 20,000
TR AEGA X2 EEAAE 29 28,000 36,000 A8,000
201 LBt2 | 28,000 36,000 A8,000
02 Z324H| 28,000 36,000 A8,000
O3XH KelZSAIAE S22 28,000
KIGtAIE2&Atet B2 540,000 660,000 A 120,000
= 450,000
& 90,000
4038 REXISHMSKH=0(1H 540,000 660,000 A120,000
= 450,000
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2A: EXEE
M gelNol EXYE PE(SELXNGINL/XGLEAI)
el PXEE dbtst (9 &)
SH - B - O9I(30) - NRAIY - BES ol&key o HlmS2t
= 90,000
01 XtXISHMA=2E X 540,000 660,000 A 120,000
OXIStAIE 2 HASHALY 540,000
= 450,000
= 90,000
XNEE Mos 2HRIA 20,000 18,000 2,000
201 LEt2 | 5,800 3,800 2,000
01 AtR2teld] 5,800 3,800 2,000
Ogt=2H| 3,000
Oo2g=¢ 2,800
202 04| 12,200 12,200 0
01 =LHOLI 12,200 12,200 0
ORIXNEE HMitst HRFH 12,200
203 YFF=&H| 2,000 2,000 0
03 AIBFRAHRF=EIH| 2,000 2,000 0
ORIXEE &g F=& 2,000
HHSHZU(EXZE) (DIEHIIEL) 42,400 42,400 0
2| 42,400 42,400 0
J|2&l 42,400 42,400 0
201 LEt2 | 24,200 24,200 0
01 AtR2teld] 24,200 24,200 0
Ogt=2H| 4,200
Oexts 4,800
Ozl 15,200
202 o4t 14,000 14,000 0
01 =W0dH| 14,000 14,000 0
FNISER F& 14,000
203 PRF&H| 4,200 4,200 0
04 EA2ILRFEI 4,200 4,200 0
OEXNEEL 29 4,200
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